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QUESTION 1

Which of the following may cause the file system mounting failure? 

A. The file system capacity is too large 

B. File system has been deleted 

C. Used to access the file system DNS error 

D. The shared path in the mount command is entered incorrectly 

Correct Answer: BCD 

 

QUESTION 2

Which services of HUAWEI CLOUD EI are used in IoT solutions? 

A. Graph computing service GEs 

B. Data access service DIs 

C. MapReduce service MRS 

D. Real-time streaming computing service CloudStream 

Correct Answer: ABCD 

 

QUESTION 3

After creating a backup strategy, you can bind the cloud disk in the state () to the backup strategy. 

A. Transfer of ownership 

B. Available 

C. Error 

D. Recovery failure 

Correct Answer: B 

 

QUESTION 4

What can be used to monitor the performance indicators of the file system? 

A. Virtual private cloud 

B. Cloud container engine 
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C. Cloud monitoring service 

D. Elastic scaling 

Correct Answer: C 

 

QUESTION 5

Traditional IT infrastructure architecture is already unable to support efficient enterprise operations. Which of the
following is not a key cause? 

A. High TCO 

B. Slow network rates 

C. Slow service rollout and complex lifecycle management 

D. I/O bottlenecks restricting application performance 

Correct Answer: C 

 

QUESTION 6

Elastic load balancing can be used with which of the following cloud services to ensure protection from external attacks
and high security and reliability. 

A. Cloud audit 

B. Cloud monitoring 

C. Elastic scaling 

D. DDoS high defense 

Correct Answer: D 

 

QUESTION 7

Which of the following is not a storage class of OBS? 

A. Backup storage 

B. Standard storage 

C. Archive storage 

D. Infrequent Access storage 

Correct Answer: A 

Reference: https://support.huaweicloud.com/intl/en-us/usermanual-obs/en-us_topic_0050937852.html 
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QUESTION 8

Which of the following statements about the ELB service is false? 

A. It eliminates single points of failure 

B. It balances the workloads of ECSs 

C. It checks the health status of ECSs 

D. It forwards data at layer 2 or 3 

Correct Answer: C 

 

QUESTION 9

What operations can partners do with physical dedicated lines? 

A. Renewal to operate physical dedicated lines 

B. Modify the physical leased line for operation 

C. Unsubscribe from the physical leased line for operation 

D. Modify the physical leased line for tenants 

Correct Answer: BCD 

 

QUESTION 10

After HA is enabled on RDS, which synchronization modes are available for the following active and standby
instances? 

A. Asynchronous 

B. Timing 

C. Semi-synchronous 

D. Synchronous 

Correct Answer: AC 

 

QUESTION 11

When two elastic cloud servers in the same VPC cannot communicate with each other or packet loss occurs, which of
the following factors need to be checked. 

A. Check the network ACL 
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B. Check the unreachable port 

C. Check the internal network card information of the elastic cloud server 

D. Check the security group rules 

Correct Answer: ABCD 

 

QUESTION 12

What key performance indicators of relational database services support monitoring database instances and database
engines? 

A. Buffer pool utilization 

B. QPS 

C. Number of database connections 

D. TPS 

Correct Answer: ABCD 

 

QUESTION 13

Users can use () to create an encrypted file system. 

A. Key provided by the key management service 

B. Own key material 

C. Password 

D. Password 

Correct Answer: AB 

 

QUESTION 14

Which of the following about bucket operations in OBS is false? 

A. Modifying a bucket 

B. Formatting a bucket 

C. Creating a bucket 

D. Deleting a bucket 

Correct Answer: B 

H13-811_V2.2 Study Guide | H13-811_V2.2 Exam Questions | H13-811_V2.2 Braindumps                               5 / 6

https://www.pass2lead.com/h13-811_v2-2.html
https://www.pass2lead.com/h13-811_v2-2.html
https://www.pass2lead.com/h13-811_v2-2.html


https://www.pass2lead.com/h13-811_v2-2.html
2023 Latest pass2lead H13-811_V2.2 PDF and VCE dumps Download

Reference: https://support.huaweicloud.com/intl/en-us/usermanual-obs/en-us_topic_0045853662.html 

 

QUESTION 15

Which of the following types of attacks can be prevented by the Anti-DDoS traffic cleaning service? 

A. Malformed packets 

B. SYN Flood attack 

C. HTTP Get/ Post Flood attack 

D. TCP connection exhaustion attack 

Correct Answer: ABCD 
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